INSTALLING THE DRIVE SYSTEM

INSTALLING THE DRIVE SYSTEM

The first step to installing the QBOT
on the Inspira quilting frame is to drill
holes in the upper and lower carriages
and in the outer legs of the quilting
frame. Follow the instructions and use
the templates provided on pages 33
through 37 to drill these attachment
holes.

Once you have all the holes drilled,
you are ready to install the Y-Axis
drive assembly. Take one 22" screw
from your hardware kit and place it
through the attachment hole in the
drive assembly. Next, slide on one
14" spacer. Place the screw through
the rear hole in the upper carriage.
Assemble one of the 4" nuts to the
screw. Do not fully tighten yet.

Take the other 24" screw from the
hardware kit and place it in the slot on
the drive assembly. Slide on the other
14" spacer. Place the screw through
the other hole in the upper carriage and
assemble a /4" nut to the screw. Tighten
both screws snugly. Overtightening will
damage the drive assembly.




INSTALLING THE DRIVE SYSTEM

You are now ready to install the
Y-Axis drive wire. You will want to
have the following items handy before
performing the following steps: (2) #8
X 1" screws, (4) #8 nuts, (1) 24" drive
wire, (1) tensioner.

Place the two #8 screws through the
holes in the side of the lower carriage
as shown. Secure them to the carriage
with two of the #8 nuts.

Place the eyelet on one end of the drive
wire on the forward screw as shown in
the picture to the right. Next, assemble
an #8 nut onto the screw. This will
keep the end of the drive wire from
accidentally coming off the screw.

10 INSTALLING THE DRIVE SYSTEM




INSTALLING THE DRIVE SYSTEM

Next, wrap the drive wire around the
spool on the drive assembly TWICE.
When you wrap the wire around the
spool be sure that the wire starts at
the top of the spool and exits from
the top of the spool. If you wrap the
wire backwards, the wire will not look
straight when viewed from the side - it
will look like a ‘V’.

While holding tension on the wire, slide
the other eyelet onto the right side of the
tensioner. While still holding tension on
the wire, slide the left hand side of the
tensioner over the screw as shown in
the picture to the left. Tighten the wire
by turning the center of the tensioner.
Once there is some tension in the wire,
place the other #8 nut to the screw as
shown in the picture to the left.

Move the upper carriage all the way
forward. Use the tensioning template
line with the tau! wire as your guide for tightness. The wire
- | should move approximately 1/8 to
1/4 inch as you push on it. Do not
overtighten the tensioner.

The upper drive assembly is now
installed!

Y-Axis Instructions

With the corriage ploced oll the way forward,

: gently pull the drive wire down at the center of
the carrioge. The wire should fall in the range
‘shown obove,

INSTALLING THE DRIVE SYSTEM




INSTALLING THE DRIVE SYSTEM

You are ready to install the lower assembly.
You will need the following within reach
when you begin this installation:

(2) X-Axis wire holders, (1) 60” drive wire
or (1) 120" drive wire depending on your
frame length, (2) 4" X 1" screws, (2) V4"
nuts, (2) #8 X 1" screws, (2) #8 nuts, (1)
tensioner, (1) tensioning template, and (1)
X-Axis bracket adapter from the Inspira
< bracket kit.

Using two V4" X 1” screws and two 4" nuts,
attach the drive assembly to the X-axis
bracket adapter for the Inspira frame as
shown in the picture to the right. For proper
fit to the frame, the drive assembly must be
attached as shown.

Install the X-Axis bracket adapter on the
underside of the lower carriage of the
Inspira frame. Use (2) #8 X 1” screws as
shown in the picture to the right. Note
the orientation of the bracket. For proper
carriage movement after assembly, it is
important to have the bracket attached as
shown. Place the screws into the holes in
the lower carriage. Place the bracket with
the drive assembly installed in the previous
step onto the screws. Attach the #8 nuts to
the screws. Tighten.

INSTALLING THE DRIVE SYSTEM



INSTALLING THE DRIVE SYSTEM

2X for 60"
3% for 1207

Next, install the X-Axis wire holders to
the rear outer frame legs as shown in
the pictures to the left. Remember, these
holes were drilled into the frame using
the drilling templates from the Inspira
hardware pack. One wire holder is
marked ‘L and one is marked ‘R’. If you
are standing at the front of the quilting
frame, the one marked ‘L will be on the
rear left-hand leg and the one marked
‘R" will be on the rear right-hand leg.

Standing behind the frame, attach one
end of the drive wire to the drive wire
holder marked with an ‘L. The bracket
with the ‘L will be on your right. While
keeping tension on the wire, wrap the
wire around the drive assembly spool
counter-clockwise:

2 times if you are setting up at 5’ length
or

3 times if you are setting up at 10’

length

While holding tension on the wire, attach
the free eyelet to the right hand side of
the tensioner. Slip the other end of the
tensioner onto the X-axis wire holder
attached to the left hand frame leg.

Turn the center portion of the tensioner to
make the drive wire taut. Use the enclosed
tensioning template as a guide to set the
proper tension. Do not overtighten the
tensioner.
The lower drive assembly is now
installed!




This Page Intentionally Blank



e

(v ojoyd @eg) -ebouupd seddn jo
oy woy ,z/| g 9Bpa sy ublly

—

‘(v oloyd 225)
("awnyy Buy|inb ayj jo xopg eyl woly saboluod
8y} jo Bupjoo)) spis pupy yybu sy uo 1o
aboiuod 1amo| ayj jo doj ay) yhim app|dway sy}

jo abBpa ayj ysas pup aul| paysop ay} Buojo nD -

SUOI}PD0| BSdaY4 Jb sajoy Jagwplp ¢/ |14

ajo|dwa) pjoy o4 adn] #=

d

V ojoyd

jpd-apnpdha

Ha nua Lr/L

L,

[|1uQ Jamod -

sassn|o) Ajaj0g JDapA

""Paau ||IM NOA

-

swnly BuyIn®d VYIdSNI @Yt Yim asn 1o
ayp|dwsay B F = P
jpjdws) buljjug A|quiessy oALIq SIXY-A /

—

Pl

A U



This Page Intentionally Blank



ajp|dwa) pjoy o} adp) @

na 4a .9L/e rr—

1M 19MmCd I.@L
sasspn|9 A}940g JDap q

"*PaaU ||IM NOA

pd-aopdusy spo 4 doe

Jepawniqg ,91L/€ 1A

front of carriage

apoyd ayy w usmoys so alowsos Jamo) ay jo
Jios apis auy uo ajojdiay sig ubipy

"~ Thisedgealong

afinlung jo yoog

Buop abpa syl

ojoyd oy ul usoys so aBoluoa Jasmo) ayy jo
1o apis ey uo ayojdway sy ubipy

Lo o — — — — — S S G S — — — —

|
|
|
|
“ Jsppwnig ,91/€ 14Q
|
|
|
|

swnly BulIN® VYIdSNI @Yt Yim asn 104

ojp|dwa] Buljjug a4Ip\ 2ALQ SIXY-A .B.mmwm-. 's )

———



This Page Intentionally Blank



r — = = = = -

! I
) | o
3. | =
ajn|dwa| pjoy o} ado] @ — @ | — @
— - |
= e e
TN 0 TN
HE 1M L9L/E e 3 I & | &
HE IMQ b/ | —— 3 ' Z g
O Q O
4] _ @ — 4]
f] m_l o m_l
111 +8mod - = o= | S 1z ez
< u._i.m. | _.wl < ﬂ:ﬁ.
dm @ ~ | dm T
8es | 3 | 2o
sassD|9) A}2j0g JDIM 5% g geF
>»Za | | > 2a
o0 [* I+
m 3 _\ m =]
58 I 58
|

Pos{U ||[IM NOA

swnly BulIN® VYIdSNI @Yt Yim asn 104

ajp|dwa] Buljjug Ajquiessy aALIq SIXY-X Sy s )

— — —



